Bellwork #11 – February 19th, 2019		H. Geometry

1.)  On Thursday, 240 adults and children attended a show.  The ratio of adults to children was 5 to 1.  How many children attended the show?






2.)  On an architect’s drawing of the floor plan for a house, 1 inch represents 3 feet. If a room is represented on the floor plan by a rectangle that has sides of lengths 3.5 inches and 5 inches, what is the actual floor area of the room, in square feet?






3.)  What value(s) of x satisfies the proportion below?
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